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Exam 3, MA 131M, 18 November 2022 “

Please show as much work as you need. Keep in mind that if you skip several steps and get
an incorrect answer, it will be very difficult to assign partial credit. Please take a moment
to skim through the test first and start with the questions you feel most confident about.
Your answers do NOT have to be in order on your paper.

1. (12) Find the derivatifes of the'_vf_olljowingrfunctiéns. A

(a) h(z) =543

(b) h(z) = logs(1 — 2?)
; dy
2. (15) If y = €™, find —=.
3. (22) For each of the following, decide if it possible to use L’Hopital’s Rule. If you can,
~evaluate the limit by using it.

. (a@ NG rlcl—r>r(l) sin(x)

(b) YES NO‘ a;ILHoIo sin(z)

Zz

(c) YES (NO) lim &

» T——00. I

(@B’ NO lim =
' . " ) T~—¥00: I

4. (20) Evaluate each of the following. You can check with your calculator, but when
- appropriate, you must include each of the following on the unit circle: (1) the relevant
~ point and the coordinates of that point, (2) the appropriate line on the unit circle, (3)

the equation of the line next to it. Note: If you do not need the unit circle, you do not

have to draw -on it. You have to decide.
(a) arccos(cos(7m/4))
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Exam 3, MA 131M, 18 November 2022

(b) arctan(tan( 7T/3))
. =T
2

BT V’Finda% arcsin(l —z). Simplify as much as possible.

2— 3T :
(7) Fmd mlgél* zsin(z)’

7. (17) Considef f(z) = :1:;3 1. Here are the derivatives:j; e
F e AL 32z 2
F@=E, %22

‘ ( ) Find the z-values and y-values of the local maxima and minima. 'Lalt;el'them on
the graph You do not ha,ve to show they are minima. Just label them on the
- graph. e : o it =

G b) By creatlng a 51gn ('hart ﬁnd the 1ntervals Where f (x) is concave up and concave
a4 down : - :
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